Qaingco, im0 ____. srmEssras 2022431238383
Ton, = O FIFCRERBARERRE Eﬂijc

R O0 spsipss s
EIES

B A= IE EE = HEEED
e EE STl EMNE | HESEE(E [/NE | ool
el ECER | BSTEET =S=EAL | ZIUEEE §| ABER| |-«
-| BEE= “BOKSEEY” = : ; OLSeh
125l e s A 3 = -3 +5 = |#% = &4 Z<EB
ﬁ zﬂ:ﬁj o 5 EE7k:FT %DJE@% ﬁ E%J % y}j 7.0 |1.5 |2.0 | 2.5 |825
o gl BF
12/6] — HI%ﬁ& E g ’Xgﬂ |7,s_| ,{L/J *ﬁ 11’ FI%EZE\;E ‘/ﬁ I];Eﬂg‘i;% 6.5 [2.5 |2.0 |3.0 |828
_@_\\ g €3 _
12/71= ‘_,-,'u‘\/,_\ ‘vj o 7T A ‘B o = B =1 = K 6.2 2.7 [2.0 |2.5 |859
eofrl FERER | 08 B A SHESHRE | SMWRY 5| BEs | ||
eofs] BKER | BB ER | IELE | B0ar |5 meEss el
]| FERESER NSRRI A AEMFEX | BESE |S|Eiman| )| |-
el =] BERER p=L=<l)) 1P MAIETE | KSR & FHRER | oo || o]
e =F S)a=-E: mENE | BERES (5 8R5 &l ol
AL BBQ TSWEET & 32 = ;
12/15] 20 \ N N > AN 5 N= 6.0 [3.0 [2.0 |2.5 |808
Ak | e | DoBE e | PORE |§ RIS
el KER | FEREM BRESe | SR |5 DEES | |||
DIY £ A M xB s g Be |+
12/19] — o ™ 7N N ! 6.3 |25 [2.0 2.0 |844
gt | B oo wE x| PEAE g gl (v
= gl BF
eof| BEER | r BB T | BEBea | ams B 2ak | ||l
2 Em%
el =) RAFREER | WMEBAIRXS | @LBEGHE | WS 2 BEER5n %
=3 WEE il g > = | FEhhsEsEs | B 23
wlel BEIR | BE®ET | DR EE | BOSERZR oomm | 1l
L sz =
HEOSt e o “SWEET & T 4% -
EDL 7 oT LR (=] TR
12/23) A1 \ X/l I E\—\ 6.0 [3.0 [2.0 |2.5 | 808
EafE | NUEI | =e o | g |# DERS
- BEER | emmmm | mmmmc | @kam 5 208 [F)l|
oG
— K \ |/ 2 ~SWEET~ =p— i N
12/270 = *ﬁ;kﬂ& :%l:’kji\m)# /J\ \,j X1 ﬁ%%ﬁj%% ;% j(;,;% 6.0 |3.0 [2.0 |25 |s08
_ )v_g = N w7, —++ == B8 \|/ =B 7K
w5 =g 1585k i B % | ZWOTE (5| FOKE |||
A
efml  ERIKER BIEETSA | A UE % x2| MWESEX E BRIENHES (o oo |0 [ |
eolB|  TREEER m[g,ﬂ)]unggg *gmg\ FE Nt @ GRIZE LS g
SRR =g 8E L .S S = s o ey = N ——
*m@ ©;_,EB.’EE”1EE%E7H§2¥§Z %7%3EEIE£L HACCPFI% %ﬁjl:m,ﬂJ(ER% &msré E=% 28082036 Méeﬂi mn,ﬁ
S ——— ———
BH E7EES EREE _l FEAER
112X 94’? %




EMEMBIRAT D
N enanz FlEh

i FrdbmiRKE/N\B—E1155//HACCPE % %J%ﬁ*é%ff:écpﬁ’&ﬁ%/ /RFERBAFFICHEE T MEEHE
55 28082036{B E : 28082026/ = &6 : fR G 3&(%%3‘?50075013)5) ]
2 |07 f5 A A EHACCP & 722 B ebr 53 2 S B iy i3l BRESRSERIEERE
B8 SRS ﬁ“mﬁ%ﬁé‘iﬁ@ A | T
2510 | ER EK1209 |
(@] |2+ sA FEE NS +309+3&R409 FIRE| K
ZhothE EHn209+#EEE45¢ 1o
ﬂ'ﬂ'\é%ﬁﬁﬁ I_JE;55Q+E/H.7K59 ig\
B ﬁ#‘%fmx%g =
IR /) =
P=RE] R "’I’IOg+;‘ =1-109 = |
(] |[&T#T %’Eﬂ'@iﬁﬁgﬁéﬁ;%g fe
_'E'}:”WFIL ?%I’ﬂ559+11’mz<309 3
Em*i““% EJI\\E)OQ‘I'EAI.;E)Q %
B B 5280g =
F@Eﬁ% EFOUAISRE =
2O a s i S MMER/ LISSER  |EoR 1200t S iigh e 5210/ LISER300 | LR | 2%
[—] EE ZHEE55 2%
feRmRe '@D RSBt ERTT —EB2209+FEE NS +T 309 ZREG@| =
R AN $50852300+0Z 5309 =
ﬁqui@lbu.x ﬁ‘i@ﬁi809 ’\j%
SR 2 EBERO0H 207 =
12868 |AZER BK1109+AZ K109 7%
[Z] |BES8A 38550+ FF 300+ 52109 &
1B AL {ER341.309 —iiEm| &
ey N =L B1EiSZ750+ A 5259 o)
Tk i o ok BB iRs2809 =
B IRIE S Bi=r0. 59 =)
12878 |2 B RER EHK’I209+%EFW%’IQ+/EEM@*9‘§¢ 2%
(=] B 38 HESboH R AEF e
BERRE $H#EE55¢ fe
HMNES B IEE R S E5g %450+ 55259 FRE@| A
B B 809 =
eIl WEERT+{6 259 =
12688 | h&kE 3K 1109+ h2w£ 109 2%
(O] |GRA $& M550+ 32209 5=
=MERE JEE RS F309+E5£8%5200 ZIREm@| &
%JI\\Q%} 2209+ ¥ 10g+F/IN1g )
B Biig2809 el
BEIRZ JEE N2 [E5a+igk 5259 EIREG| A
12898 | %K ER B2£110g9+42£109 2%
(] [ZEE2 234609 fe
EEMWE 450+ FE209 )
BREE% B3550+E 00+ EE NS BERZ5 EIREG| A
ﬁ%ﬁ-‘i ﬁ’f%h;SOg =
FEES Fizbgt BB T 5y =




128128 |7 28R B2£1109+75%25109 %
[—] BRRA $& M550+ 32309 &£
ALIEEI =88 x1 Ji-88309 =iiEG| B
BT 450+ ER5250 2
ok B i o & 809 =
BHcHE % BT faog+HEE5g =
128138|ZEHER B2X1209+Z& /19 2%
[Z] [BERDIBSH $ER 1 g+ ¥R IR 559+ F F 309+ 109 f&

=t —
] [
FIETSE

IEEN S E30g+iEm5210g

mm e

MK SRE

SRE 550+ H59+¥#KO0. 59

20
30

=

>

> x

= Tk R =809 =
EXKEZ EEE50+IFE E KDY =
12814B8|B838k B£1209 2%
(=] |BiEEHE BIERHE55g e
R E HEASg+IE 52209 o)
BRRE FEE55¢ o)
Bisx BHErsz809 =

BHE% & 159 =
128158| AEERE $@151000+tiEm219+3E R 19 =)
(/0] [BBQKEHEREfEX2 $22/)\BE100g 3
TSWEET IREBILBES YhHE 309 &
BRIMRTE TEAPSE 750+ 5250 o)
Bigx BHsrsz809 =

I ;FF-59+7a/159 =
128168 |/)\VKER B£110g+/)\2£109 E
E =] 38550+ 2 52209 1o
HINEHExX2 R E&E5#2409 te

2 S BEa459 =
Bisx BHErsz809 =

IR = #8109 =
128198 (D | YIRIZ 1] &8 F@{15100g =
[—] [EiAEEHEXT 38 HES59 e
REREX] HEEE459 X

Ne I\ NE] i [Nb5g+EAE 359 =)
=Y TR 552809 =
SRS JEE NS [B50+38 M50+ IEE N FE K59+ 5 =) =
128208 |Z i8R BK1209+Z 19 2%
(] DFEEsT 1559 e
SRR X BR&409 2%

=B FEH10tiERs59+ 3559 =)
=Yg TR 552809 §

BFEL

R0 50+ BEE5g

~,
-




12821 B|RFREER BK1209+A5419 2%
[=] |WREFEAFEXS $6M45¢ E
BEGHE BE70g+i5R52209g &
i MM 15450+ 5m 5259 )
Bims Bz 52809 =
GRS R 5 IFE R [E50+iFi 5259 FifBa| =B
128228 (IR ZFER BK1109+i4A5 K109 2%
(U] [FBEEET 29 358550+ 55 52309 K2
HIARE P iEottele 2%
ISR #G 8RR 450+ 5259 1o
Bims BHE 52809 =
XA S 5E HL 250+ El59 =
128238 | BBt RS = AR B FEAMNE1000+FE AN 9+ER 2 19+HIE S EF LBl
(] | FHRIZEBEX ZEHES5g KE
“SWEET B EKEEX2 BB KEE20g FiEESm| 1B
ARG =Rl TP 750+8R 554 1o
Biins BHER52809 =
15E R % JEF50HETFS =
128268 |82 T B2 EE AR E33K1000+ 2 F R 1g+ER 0. 50+ M1 g+B0. SgHI BB ¥ 19 Z-H
[—] |RERGR G E750+8R 52209 =
SR IREX] #5309 —REm| &
S N=Ed B3550+i5 59+ K0. 59 =)
o= Tk BB 92809 =
2z =59 2
12827 8| K& KER B£1109+55£109 2%
[Z] |BEBAAR 36 A40g+IEENE F209+i# %209 EREG@| W
“SWEET ™ /) \JEZRX1 1\;B3<309 =B 1B
EEHRE #5400+5:52109 =)
o= Tk BB 52809 =
A% JEE NS [E50+i5 550 ERE@| =
1282885 TR BXK1200H88 857219 2%
(=] |0k 38 5E55g E
i E 2 ZHRD 3R 450+ER52209 Kt
ZinNES MIZS559 1o
Bins BHER52809 =
FORPEKER F-9R0g+TBE K5 2
128298 | £2 K8k B261109+42#109 2%
(O] |B\EAEEEA $& M550+ 2200+ BlE1g =
KERHE IR X2 2152309 YE
MeBEx ey gisEdele 1o
Bikimx BHER52809 =
GG T B EESR50+Fi 5259 =
128308 |FZZER B£1109+7525109 7%
S i V2% 18450+ F F 300+ 52 10g9+48F 5+ 40 5F g
XN E ZAA109+ #5459 1o
Bt itk ST AR400+ER5250 1o
Bikims BHER52809 =
IRISETE % FEE N2 E5g+Z#EED ZIREB6| =




